Replacement Parts Guide
For TrafFix MASH Scorpion II® C-90 TMA

TrafFix
Dewces lm:

“maAsHY

Manual for Assessing Safety Hardware

TESTED, PASSED AND ELIGIBLE

Scorpion |l
TMA

Truck Mounted
Attenuator

13095 RevB- 07/18/2023



Overview & Orientation
of TrafFix MASH Scorpion II® C-90 TMA

RevB-07/18/2023 13095



Table of Contents

Overview and Orientation .......ceeveeeeeeeeeeee e eeeeeeeeeeanenns 02

Section 1: TrafFix MASH Scorpion II® C-90 TMA Parts

TUDES e 04
Energy-Absorbing Modules........ccccccccevviiiiiiiiiiiiinnnnes 06
Frames, Diaphragms and Angle............ceoeevevennnnnnees 08
Plate and Enclosure ........ccccuvvveeeeieiiiiieeieeeeeeeeeeeens 10
C-90 Low Pivot Mechanism........ccccccvvvveveieeeieeeecnnnnnee. 11
Motor and ElectronicCs.......cccoveeeeeeeeiiieeciieieeeeeeeeeeeenns 12
Hydraulic Cylnders.......ccccvvvvvveiiiiiiiiiiiiiiiiiiieeeeeeeeens 14
Hose Kit, Switches and CoilS .........ccooevvvvvvvereieeeiennnns 15
Cylinders (and assoc. hardware) .........ccceevvveeeeennnenn. 16
Miscellaneous Components........ccccceeeeeeeeeeeeeeeeeeeeennnes 18
JACKS v 20
Visibility Lights ...cooooviiiiiiiiiiieeeeeeeeeeeeee 22
Tail Lights and Junction.........cccceeveveeveieiiiiiiiiiiienennnnnnn. 23

Appendix A: Drawings, Hardware, and Options

Cables and WITINE ....cooovuvvvvveeiiiiiiieieeeeeeeeeee e, 26
Tail Light Hardware .........cccccovvevveveiiiiiiieieeeeeeeeees 28
Reflective Sheeting Options .........cccovvvevvvvvveeeeeeeeeeeenns 32

13095 RevB- 07/18/2023 3



Replacement Tubes
For TrafFix MASH Scorpion II® C-90 TMA

10100L-MCIOGKIT

Components Removed for Clarity.

RevB-07/18/2023 13095



Replacement Tubes
For TrafFix MASH Scorpion II® C-90 TMA

10200TL-MC90G-KIT | 10200TR-MC90G-KIT
C-90 Strut Tube, Front Left C-90 Strut Tube, Front Right

10100L-MC90G-KIT 10100R-MC90G-KIT
C-90 Cartridge Tube, Rear Left | C-90 Cartridge Tube, Rear Right

13095 RevB- 07/18/2023

5



Energy-Absorbing Modules

For TrafFix MASH Scorpion II® C-90 TMA

Components Removed for Clarity.

10215-RUBBER 24303 12394-ZUB-1.25

Gasket, Bottom Bracket Washer Bolt
For Module D For Modules For Modules

RevB-07/18/2023 13095



Energy-Absorbing Modules

For TrafFix MASH Scorpion II°® C-90 TMA

Hardware Included for all Modules

scomion® 3 11400D-C90
TrafFix Devices Inc. ; MOdule D

e Energy-Absorbing Module

Includes Scorpion Logo

11400C

Module C
Energy absorbing Module

ppry————  10400A

Module A
Energy absorbing Module

4" Yellow Sheeting
*Other Sheeting Options Available,

see page 32.

13095 RevB- 07/18/2023

7



8

Frames, Diaphragms and Angles
For TrafFix MASH Scorpion II°® C-90 TMA

Components Removed for Clarity.

10465G

Top Angle
Cartridge Rear
Galvanized

11327G

Bottom Angle ]
Cartridge Rear
Galvanized -

Rev B-07/18/2023

13095

Vertical
Support ||
Angle ‘11
Cartridge (1!
Tube

|
Galvanized A



Frames, Diaphragms and Angles - For TrafFix MASH Scorpion [I® C-90 TMA

11501-02G

Truck-Side Frame
Attaches to Truck Rear
Galvanized

11502-02G

Backup Frame
Attaches TMA to Truck Side Frame
Galvanized

11300VG

Middle Diaphragm
Cartridge Front/Strut Rear
Galvanized _ g

11300HG

Rear Diaphragm
Cartridge Rear
Galvanized

13095 RevB- 07/18/2023

9



Plate and Enclosure
For TrafFix MASH Scorpion II® C-90 TMA

Components Removed for Clarity.

12144-C90-KIT

Pivot Pin Kit
——
—
00/ :+ OO

00400
1 1 571 _01 1 1 570_01 (Includes (2) Pivot Pins,

(2)Bolts, (2) Locknuts,
(2) Cotter Pins, (4) Washers,
and (4) Washers).

Pump Enclosure Skid Plate

10 RevB-07/18/2023 13095



Low-Pivot Mechanism
For TrafFix MASH Scorpion II® C-90 TMA

11610

Rubber Bumper

11509

Stop Bar

11564

Latch Plate

11510G-A

Lockout Frame
Galvanized

13095

11603-A

Locking Mechanism

Rev B- 07/18/2023

11



Motor and Electronics
For TrafFix MASH Scorpion II® C-90 TMA

Motor
Assembly

11604-12-B (12 von)
11604-24-B (24 von

(Includes Valves, Solenoid, and Cap)

includes 30 ft. Cable
with 6-Pin Plug

£ 3
i;-’ ) '(( .

BUCHER
@ hydraulics o
o

Fuses

12049

12 Volt, 250 Amp

R -3

12 RevB-07/18/2023

12089

24 Volt, 1560 Amp

11615 | 10506IN
@/gnﬁ gﬁg: Heavy Duty 6-Pin
with Indicator | U9 Connector
Light

10506TS-IN
Heavy Duty 6-Pin
Socket Connector

10507C

Motion Alarm

13095




Motor and Electronics - For TrafFix MASH Scorpion [I® C-90 TMA

11604.
TANK

12 Volt Part Numbers
can be found below.

Part Placement on 24 Volt Motor

11012NJ-CAP

o~

11025 (24 von)

Valves

11021-12 (12 von
11021-24 (24 voi

C1 Valve Kit. Includes:

/7
;""\\ ~ 02/ (Cy Vay
- v k)

\ | 11121412
“\!11121-24

13095

11020-12 (12 voi
11020-24 (24 voi

C2 Valve Kit. Includes:

Nl1m2112
(COI|) W -or-

1112124

o

Rev B- 07/18/2023

13



Hydraulic Cylinders

For TrafFix MASH Scorpion II°® C-90 TMA

Components Removed for Clarity.

11600A 11614A

Lifting Cylinder, 3.5" Lockout Frame Cylinder, 2"

14 Rev B-07/18/2023



Hose Kit and Switches
For TrafFix MASH Scorpion II® C-90 TMA

11602H-02

Hydraulic
Hose Kit

/g,

11572-02A

Upper Limit Switch
Controls Indicator Light

11618-12

12V Valve Coil

13095

11618-24

24V Valve Coil

Lower Limit Switch
Controls Solenoid Valve

RevB- 07/18/2023 15



Cylinder Hardware - For TrafFix MASH Scorpion [I® C-90 TMA

11600A

Hardware for 11600A

Cylinder - 3.5" Not Included
Must be ordered separately
12083
12083 120153375 g

2 10663

90° Fitting

10661

Velocity Fuse

=% 10662

90° Fitting

Clevis Pin, 3-3/8"

12033-01

[/ Cotter Pin, Zn |
(2 required)

10649-01

Seal Kit, TH, 3.5"

12017

Hairpin

12033-01

Cotter Pin, Zn
)

12015-3.375

Clevis Pin, 3-3/8"

12001

Rev B-07/18/2023

16

Washer

13095



Cylinder Hardware - For TrafFix MASH Scorpion [I® C-90 TMA

11614A

Lockout Frame Cylinder - 2"

/ ‘a 10663

90° Fitting

11616

Straight Fitting

10663

90° Fitting

Hardware for 11614A

Not Included
Must be ordered separately
12001
12001 12015-3.375 gV
Washer )

Clevis Pin, 3-3/8"

12033-01

() Cotter Pin, Zn |
' (2 required) @)

MR e,
[ﬁ. [ [ty

1063801

Seal Kit, TH, 2"

12017

Hairpin

12033-01

Cotter Pin, Zn

12001  12015-3.375
Washer Clevis Pin, 3-3/8"

13095 RevB- 07/18/2023

17



Misc. Components
For TrafFix MASH Scorpion II® C-90 TMA

Components Removed for Clarity.

18 RevB-07/18/2023 13095



Misc. Components
For TrafFix MASH Scorpion II® C-90 TMA

1 1 5 53_0 2 Energy-Absorbing Bracket

Holding Plate

11572-04

Trigger Plate
Indicates TMA
is stowed

13095 RevB- 07/18/2023

19



Replacement Jacks
For TrafFix MASH Scorpion II® C-90 TMA

Components Removed for Clarity.

20 RevB-07/18/2023 13095



Replacement Jacks - For TrafFix MASH Scorpion [I® C-90 TMA

Swivel Jack

Choose from either Regular Duty or Heavy Duty.

Both are universal (suitable for left or right placement).

10715 11508-01S

Swivel Jack Swivel Jack Top Wind
Regular Duty Heavy Duty
OR +

11506

Swivel Jack Drop Leg,
6" Caster, Heavy Duty

10702

Snap Ring |
for Swivel Jack

Drop Jack

Universal (suitable for left or right placement).

10750S | 90005-LP | 10725S

Mounting Bracket for Lock Pin, Drop Jack

Drop Jack Square Retainer

5

13095 RevB- 07/18/2023

21



Lights and Junction
For TrafFix MASH Scorpion II® C-90 TMA

Components Removed for Clarity.

10524 10520

Angle, Side Marker Light Bracket, Side Marker Light

P
JEncy
L N

22 RevB-07/18/2023 13095

10573

Side Marker Light,
Amber, LED, Multivolt



Tail Light Configurations

For TrafFix MASH Scorpion II® C-90 TMA

Color Pattern Visible when Stored Visible when Deployed
=N IROUC0 JUUUU
Right, C-90 Front ('t 00 IEEes Right, C-90 Rear :
10505D-LED-RYW )00 0000 10505A-LED-RYW

Left, C-90 Front
10504D-LED-RYW

Left, C-90 Rear
10504A-LED-RYW

Right, C-90 Rear
10505A-LED-YRW

Right, C-90 Front
10505D-LED-YRW

Left, C-90 Front
10504D-LED-YRW

Left, C-90 Rear
10504A-LED-YRW

Right, C-90 Front Right, C-90 Rear

10505D-LED-YRR-01 10505A-LED-YRR-01
YRR - RRY »
e N @ A
” Left, C-90 Front Left, C-90 Rear
10504D-LED-YRR-01 10504A-LED-YRR-01
4 4

10518 For cables, see Light Wiring
Junction Box on Page 26.

For LED-Tail Light Hardware,
see page 28.

13095 RevB- 07/18/2023 23



24 RevB-07/18/2023 13095



Appendix A

Drawings & Hardware, and Options

13095 RevB- 07/18/2023 25



Light Wiring

For TrafFix MASH Scorpion II°® C-90 TMA

1| s
} Side Light
10573 1ee LABAT \
Side Marker Light Cable, Strut
10513
Side Light Cable
10519 Strut
Cartridge Left 10533-6FT
Tail Light Turn Cable Strut Left
Cartridge Left Tail Light Turn Cable
Configurations on p21. Strut Left
Configurations on p21.
%", 10518

gwway 10518
@‘_’ Junction Box

kl 0510 Power Cable to Cartridge
(Routed through strut tube)

z” Junction Box

&051 1A-12FT

Power Cable to

Strut with
10534-6FT T-way Plug
10509 / Strut Right 2
Cartridge Right Tail Light Turn Cable
Strut Right
Tall nght Turn Cable Conﬁgll.llrlationsgon p2l1.
Cartridge Right
Configurations on p21. 1 0 51 3

‘0 Side Light Cable
10513 " Strut
Side Light 10573
Cable, Strut Side Marker Light

Side Marker Light

Black Open Circuit

Left Turn

Red Stop

Green Right Turn
Brown Running/Clearence
Blue Reverse

26 RevB-07/18/2023 13095



iring

Motor and Electronics W

For TrafFix MASH Scorpion II® C-90 TMA

WDy
q UoHOW
*UOoI}isod |DJUOZIIOY Of PSAOW SDY Jo10W dwin
VWL JOLI0 SWDI} |NOY0| SOIOAILOY 10D oW d (+) ()
SAIOA
_(_U._v_\sw mv o U_Ou—_coz
pun [
JOMOT & o No0Tg
UM
ON ON VOGSl = DdAre
SIUM v V0SC = DAACL =
Pee =
9|gRD Asjpg YO 100Ig o)
S|aPD Alsjiog VO | Pay =
plous|os AoPH
SHYM
‘uolisod paAo|dap AN} sy |
Ul Sl VWL $oU} sujuoD Jybl| Jojooipu |_ ADTD v
‘paboBus A||Ny SOY SUIDI 1NOXD0]| JaLp 10D 10D JLO\_O
13]|04UOD Ul JYBI| JO10DIPUI SOIDALLDY 4e) 1D .
l_ A0IS — CEN]
youms @ © =
Hwan 200ld . ADID NEEID)
leddn § o Py — oBuUnIO
ON ON abuplQ, usaio
19%20¢ JO 8pIS 3o0g O @ 193208
J9|InIL
UM <) C $o0ig AOM 9
@
[ ]
pay
Bnid
ussID oBuUDIO J9|I0J]
AOM 9
@D_n_ 1O 9PIS »20g c ° [— —|
)~ G
op oyl
o) o0Ig ® HUM
pay

18]j0J1u0D

27

Rev B- 07/18/2023

13095



Left Stored Tail Light Hardware

10504D-LED-YRW
For TrafFix MASH Scorpion II® C-90 TMA

Yellow Red White
Turn Stop/Tail Backup

E

Part No. |Description Qty
10532A-02 C-90 Bracket, Universal 1
10540 Adjustment Angle 1
10553-C Light Housing, Rubber 1
10562 LED Light, Red, Stop-Turn-Tail 1
10544 LED Light, White, Backup 1
10565 LED Light, Yellow, Turn 1
10533-6FT Strut Tail Light Cable, Left, 6FT 1
12029 Bolt. HHCS, 1/4™-20x 1~ 2
12005 Fender Washer, 1/4” 4
12014 Locknut, 1/4”-20 2
12044 Screw, #8 x 1/2”, Self Drilling, Hex Head 2

28 RevB-07/18/2023 13095



Right Stored Tail Light Hardware

10505D-LED-YRW
For TrafFix MASH Scorpion II® C-90 TMA

105530

10562
10590

White Red Yellow

BCICkU? Stop/Tail Turn

Part No. |Description Qty
10532A-02 C-90 Bracket, Universal 1
10540 Adjustment Angle 1
10553-C Light Housing, Rubber 1
10562 LED Light, Red, Stop-Turn-Tail 1
10544 LED Light, White, Backup 1
10565 LED Light, Yellow, Turn 1
10534-6FT Strut Tail Light Cable, Right, 6FT 1
12029 Bolt. HHCS, 1/4™-20x 1~ 2
12005 Fender Washer, 1/4” 4
12014 Locknut, 1/4”-20 2
12044 Screw, #8 x 1/2”, Self Drilling, Hex Head 2

13095 RevB- 07/18/2023 29



Left Deployed Tail Light Hardware

10504A-LED-YRW
For TrafFix MASH Scorpion II® C-90 TMA

\053LYY q208h

Red White
Yellow  Stop/Tail  Backup

] m Crl 10569

Part No. Description Qty
10532-01 Bracket, Universal |
10553-C Light Housing, Rubber 1
10562 LED Light, Red, Stop-Turn-Tail 1
10544 LED Light, White, Backup 1
10565 LED Light, Yellow, Turn 1
10519 Cartridge Tail Light Cable, Left, 120 Inch | 1
12044 Screw, #8 x 1 /2", Self Drilling, Hex Head 2

30 RevB-07/18/2023 13095



Right Deployed Tail Light Hardware

10505A-LED-YRW
For TrafFix MASH Scorpion II® C-90 TMA

White Red Yellow
Backup Stop/Tail Turn

R — m —

Part No. Description Qty
10532-01 Bracket, Universal 1
10553-C Light Housing, Rubber 1
10562 LED Light, Red, Stop-Turn -Tail |
10544 LED Light, White, Backup 1
10565 LED Light, Yellow, Turn 1
10509 Cartridge Tail Light Cable, Right, 120 Inch | 1
12044 Screw, #8 x 1/ 2”, Self Drilling, Hex Head 2

13095 RevB- 07/18/2023

31



Reflective Sheeting

Includes Module A with One Color of Reflective Sheeting

10400A

4" Yellow Sheeting on Black Module
Avery MVP Sheeting

10400A-B1AV-6Y

6" Yellow Sheeting on Black Module
Avery Hi-Intensity Prismatic Sheeting

10400A-B1DG-60

6" Orange Sheeting on Black Module
3M Diamond Grade Sheeting

10400A-B1DG-80

8" Orange Sheeting on Black Module
3M Diamond Grade Sheeting

10400A-W1AV-6R

6" Red Sheeting on White Module-Front
Avery Hi-Inensity Prismatic Sheeting

10400A-W1DG-40

4" Orange Sheeting on White Module-Front
3M Diamond Grade Sheeting

One Color: Foreground color is reflective, with non-reflective module as background color.

32 RevB-07/18/2023 13095



Reflective Sheeting

Includes Module A and Two Colors of Reflective Sheeting

10400A-B1HI-60OW

6" Orange and White Sheeting
3M Hi-Intensity Prismatic Sheeting

10400A-B1AV-6RW

6" Red and White Sheeting
Avery Hi-Intensity Prismatic Sheeting

10400A-B1AV-8RW

8" Red and White Sheeting
Avery Hi-Intensity Prismatic Sheeting

10400A-B1AV-6RY

6" Red and Yellow Sheeting
Avery Hi-Intensity Prismatic Sheeting

10400A-B10R-6RL

6" Red and Lime Sheeting
Oralite V98 Sheeting

10400A-B1DG-80L

8" Orange and Lime Sheeting
3M Diamond Grade Sheeting

Two Colors: Foreground and background sheeting colors are both reflective.

13095 RevB- 07/18/2023 33



Notes

34 Rev B-07/18/2023 13095



Notes

13095 RevB- 07/18/2023 35



Y 7 4
TrafFix 7: 7
Devices Inc. 4

Engineered Products for Safer Highways

ScorpionHelp@trafhxdevices.com

(949) 361-5663

© 2023 TrafFix Devices

36 RevB-07/18/2023 13095



